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Time : 3Hrs. Sem. I11/I.C.E.
B.E.E.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR (312714T) (i

Write down the advantages and disadvantage of

negative feedback in amplifier.

FUMTcHD Bledd Bl TRATHRR & &9 § o™
aT gl &1 9drv |

(iii)
Differentiate between avalanche and zener

breakdown effect.

SR 92 varea d® SIS gl ¥ ar
I B, §A1V |
(iif)

OR (372rd)

Describe working of a transistor as amplifier.

Define o and B for a transistor and establish the

relationship between them.
(iv)
TR BT U TFeflBRIR & ®U § &t
B BT 9 B | CIERR B8g a dAT B Bl
IRAIYT & vd s99a 9 T g & |
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fewaie &1 ateew fraw frafafaa o
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(31) SigeE Rt

() 40 swIUs

(|) IR gMU

() @) o (|) <= &«

A terminal where......three or more branches
meet is known as:

(a) Node

(b) Terminus

(c) Combination

(d) Anode

ue cfifaer el i der 9 9@ e

KIS
@) <ff=
(&) wirs(eraer)

(@) vl

Which of the following is the passive element
(a) Capacitance
(b) Ideal current source

(c) Ideal voltage source
(d) All of the above

P.T.O
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OR(3721d1)

(a) Describes Norton's theorem with a suitable
circuit
(b) Explain parallel division of current with a

suitable circuit diagram.

(31) I YA &1 9vie SuY uRue & I
B |
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(31) ufRuer

(@) U

GRS ERE]

() =zmeEr

The emitter of a BJT is usually dopped

heavily because:

(a) It is the first region of the transistor.

(b) It has to dissipate maximum power

(c) It has to dissipate a large number of
charge carriers

(d) It is of highest resistance

U®h d1. o &1 &1 gHiex aH=Iaan

9 AfSre S Bidr 2, dafe—

(@1) gg ¢ifier &1 ugdl 9a¥ &
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(@) 39 At maf¥ra HRAX myfn
BHAT BT 2

(?) g we <AeT yfoRie &1 ghar @

In a p-n-p transistor, electrons flow:

(a) Out of transistor at the collector and base
leads

(b) Into transistor at the emitter and base
leads

(c) Out of transistor at the emitter and base
leads

(d) Into the transistor at the collector and
base leads

P.T.O



O’'Ld

9 "MO[9q Z-2In3Y oY} Ul UMOYS JI0MIdU
o} 10} q-B SSOIOL JUS[RAINDY S,UTUSAY] oY) UIRIq) L

2 M @ (k2K Blh Yai

"SuUOIISAN() ALY [[e Jomsuy

0E=5X9

J dNOod¥d

2 Yo & DR BB ID
| 2@ L]ab 1® [Plak—Rle & S[RIS RED

"TOqUIAS ST
JAI3 Os[e 29 dpoIp [ouuny Jo uonerddo ayy urejdxy

(lprRR)IO

| BR) Yol Mgl @b f khp) & (QID 8R

14
(4T UO S9JOU I0YS B LA, 9

yoeor91 S1 ISOELN

dA0qe ) Jo duoN (p)

rerojew 2dA1 N 2 4 yrog (9)

reuorew adA1 -4 (q)

[eudeWw 9dA)-N (B)

:sjudsaxdar peay MoLre [OqQUIAS
OIJBWIAYOS IPOIP 10JONPUODIWAS B U] (X)

EMiBR (2)
pdrh (B)
BRIDIA (k)
Rk 10221b (I8)
—2 Ib|2 bkble
IR | khyjh @b IR—kld R & b2k ()

douejoede)) (p)
douejonpuy (9)
doue)sIsay (q)
921n0S 33e)[0A ()
(DI B Ul
JUSWID[D SATIOR UE ST JUIMO[[OF O} JO YIIYA  (xi)

2 P12 DYk B
222013 dh RSP MRlle bh d2IkR (2)
2 DRI2 D3YIbK 22Ib & ADIOIS
2h RS AMRlle bd dpoivde (B)
2 D2 bYIpK M I 22YLS
2h ReUD MRlle bd dlakoa (k)
2 DI2 D3YIbK 22Ib & ADIO|IS
2h Re|R AlRle b ®2ikk (k)
B13bRE kb Ad¥MoIS olhobdolh wd (1)

ISOELN 9 YoE0r91



1640304 14 NT3051

Explain semiconductor action using energy band
diagram.

Soll 4vs faa &1 gaT uR efaras ugret
BT B I |

OR(37214T)

What is Intrinsic semiconductor? Give suitable
examples.

gfgifa efaras ugref @ sy o wwsE
2? 99l arefe Sarever 9 |

Discuss the need for biasing in transistors. 4

SRR & arafRiT &1 Soxd |l 27 9Hsg
OR (3121an)

Explain the basic concept of negative feedback in
amplifiers.

TEATHRIR § RIS Blsdd & = IATER
AT B? AV |
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Which of the following is not a
semiconductor?

(a) Ge

(b) Si

(c) Mn

(d) GaAs

fr1 9 9 39 e sefarae Tdf 287
(31) Ge

@) Si

(|) Mn

() GaAs

A zener diode

(a) Has a high forward voltage rating

(b) Has a sharp breakdown it low reverse
voltage

(c) Isuseful as an Amplifier

(d) Has a negative resistance
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Answer all Five Questions.

g uig g & SR o

2. Sate and explain Kirchoff's law's for electric circuits.

4x5=20
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A tunnel diode is used:

(a) In high power circuits

(b) In circuits requiring negative resistance
(c) In very fast -switching circuits

(d) In power supply rectifiers.

cd SHals @1 SUAIT 8dl 28—

(31) S=a—ura} uRuer A

(@) FvrmcH® YfoRIg &1 SToxd 8 a9
gRuer # |

(@) g wfa & fifgT aRkger #

(?) YfICHRR & AR —awIsg |

When negative voltage feedback is applied
to an amplifier, its voltage gain..........

(a) Is increased

(b) Is reduced

(c) Remains the same

(d) None of the above
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